VBT 9]
Tafolat

29) 77

3171 O

H1L =

b, A&

=
=



2.

VISa7} %7t 517 91T

w
5'7

r+



3.

© =
= &

D 1

V35— x 7t Q%7 B2 Sk Q4 x

® 3

A 5

@ 7

o] 27

® 10



4. UYUsFE

o

udg o, 3kl HAAstE 7

4,5, 3V3+1, 4v2-1, 2+V7-1

@ 4 @ 5 ® 3V3+1
@ 4v2-1 ® 247-1



21212V ABCD ©| 4] AB
,BC & Z4Z gt WO = st ALY S
AREY I dol7k 42 12, 75 ©f H 9l
o] o, A3 ABCD 9 Wol&?

i
mlo

[

o

=
my

o

)

>
N

D 10V3 @ 15 ® 15V3
@ 30 ® 3043

Q




@ a>04d, aAFIT2 £
© 5 9 AFL2 £+5 otk
© -9 9 AluE -3 olth
® 0 9 AlE20 ot
Fo] AFL- 1 7ol




7.

2<x<3dl (x=3)2+ A1 -x)? & 1Fds] 5pa?

® x+1 @ 1 @ x-1

@—2X+1 @2—x



8.

V20 < x < V65 &
B

Zol= A4

X

e

St

23



9. The 714 feld B IR Fotedat
W

s

=7
~ V3, 2.3683 -- =, V4, \[




,a+b 9

S}
=

a, b1l

3

® 3

@1

Do

® 1+ 2

@ 242



11.

3v2
2v3
b>0)

> %

aV6 o1

5 3V10

%

\/_

—b\/_(ﬂ[q:l \/_—’]%}:o?(l_,a>0,

I3
ol

® V6



1
12. a=b+ ol b= VT4 W, a=b2Z AT}

ct- HH

11



13. o5 3 F 49 da BAE vt=A yehd e B 12W?

D V3-1<V3+1 @ 1> 2
® V5-2>5-1 @ 0>+3-2
® V2+2<2V2



14. AFZEANAM V3= 1732, V30 = 5477 & uf, V0.3 2] k& 35+
2.

h=E
=%



T 2ol 3L W, AAga o gh2 BF 2 IR

lo

® 6 M ® 77 @ 8 7 ® 9 7



@ 245

3 312

@ 345

B 42



